
 

Q1.  When the temperature of a metal cylinder is raised from 0.0 °C to 100 °C, its length increases by 

0.307%. Find the percent change in density. 

 

A) -1.23 

B) -0.610 

C) -0.306 

D) -0.913 

E) -0.460 

 

 

Q2.  2.39 kg of water is initially at a temperature of 60.5 °C. How many kilograms of ice, initially at 0 

°C, must be added to the water to make a mixture with an equilibrium temperature of 37.6 °C? The 

specific heat of water is 4.19 kJ/kg·K, the heat of fusion is 333 kJ/kg, and the heat of vaporization is 

2256 kJ/Kg. 

 

A) 0.561 

B) 0.689 

C) 1.46 

D) 0.407 

E) 0.467 
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